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(villy Some icons used (n graphic design software are labelled as ® - ®.

Amended

o

‘(v‘lli)
icolls)
@ ® © o
Identify the correct name for cach tool from the list given below. Write down the ool name against
tabels @ - ©.
J List: {crop loaol, lasso tool, hand wol, brush 100l, clone stamp tool, magic wand tool, move tool)
P Miéic Wand Tool
B - Lasso Tool
C -~ Move Tool
D - Clone Stamp Tool
[0.5 marks for each correct answer => 0.5 marks*4,
= 02 marks])
(ix) v The tollowmg: dagram shows the iteraction: hetween o user and o computer system Idenufy matching
terms for abels A ® g © in e diagram Trom the following list. Write down the label and
comesponding lerm
Last: [Hardware, Apphaation soltware, Operating system software, | iveware)
P —
.
(eoe @ Joo @ Yoo © )
A - Application Software
B - Operating System Software
C - Hardware
[10or2 correct=>1 mark,
All 3 correct => 2 marks,
=02 marks]
(x) (v Assume that @ dice was thrown 10 tmes and the 10 values oblained arc stored in an array named A |
The followmg atporthm with messng torms £, Q0 and & 15 used (o calculate how many Gmes number
S was obtuned |
ount = () [
Index of amay 0 | 2 S67189 |
| |

=0
whide < P A [—I"T:]

3
3

|

]
2

nonnn

o A =S then

® = count ¢ |
end o
NI
ond while
dusplay count
Wnie the comet terms for lahels ®, @ and ® in the shove algonthm
P-10
[01 mark]
Q-i
[0.5 mark]
R —count
[0.5 mark]
Note: Correct spelling needed for variables
[02 marks]

80-ICT (Marking Scheme) | G.C.E.(O/L) Examination 2017



Department of Examinations

——_——— N Amﬁnded

2. (i) a0 Consider following statements ! (@) regarding 1CT related secuniy ey

(1) A maiware program that rephcates iself o spread 1o ather computers
tnsolicited (unwanted! emarl recened nto the ainbov ol an e witw are

2 Prewending 1o be . truscworthy communiestion allempting (o oblain someone ' —
of g hana woount m

4 Diplas anwanted promotronzl matenal o the Torm ol popups im0 webpgpe

Identifs the matching wems from the st gnen nelow for cach b the saementy 3
the statement number and the reievant term from the fimt
List: | Adwarc. Spam. Phishing. Bots. Computer worm, Frrewall |

1 - Computer Worm ﬁ

2 > Spam
3 - Phishing
4 - Adware
[1Marks *3,
= 04 marks)
(ii) e The dragram shows how g person warks on lis computer

Wrike two health relaied issocs that he may face duc 10 the posture

Any Two of the following :
Muscular Skelton Syndrome/back pain/leg pain/arm pain/frozen shoulder

o
e Neck Pain
e Headache
e Computer Vision Syndrome(CVS)/Eye (Strain/Ache/Irritation/Pain)
e Repetitive Strain/Stress Injury(RSI)
e Carpel Tunnel Syndrome(CTS)/Wrist Pain
[1.5 marks * 2,
= 03 marks]
(ii|) m Conaider the follom ag wenanos landlied 1 3

1 A penon copring bioemsed software downloaded from Internet and selling 1o others

2 A pemon logging nto 2 social media account using a slolen user name and o password

3 A farmer in onc countny uses agncultural information on web, while o farmer in another country
1s unable 10 use such mformation as he docs nol know how (o use computers and does not have
aces o Intemet

Identify (he surtable lerms from the bt gren helow for cach of the shove scenanos and wnle down

the mefevant om azandt the lahdis 13

List: | ey Cyher cnme, Digaal drvide, Privacy, Hectronic business |

1 - Piracy
2 - Cyber Crime

3 - Digital Divide
[1 marks * 3,

= 03 marks]
I/J
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3@ 3. (i) Consider the following figure which shows HTML. source file with missing tags and parameters labelled
©-© on the left and its output on the right.
HTML source
<'DOCTYPE himb>
<himi>
<body>

<h2><@> Milk Ricc </@><h>

@ s="milkricc jpg" ali="Milk Rice*>

<p align ='@" "@>Kiribath<@> is a traditional dish
which is fit for any auspicious moment. Kiribath also
known as milk nce is normally scrved with “lunu _
m_i:;!'- a mixture of '°i°"‘°'}‘ "l'd spices ”h:"" 35| Kiribarh ix a vaditional dish which is i fox
with bananas, jaggery & curries. IUs a must have for | any guspicious moment. Kiribath also known
<@>New Yearc@> ceicbrations & a popular breakfast | a5 milk rice is normally scrved with “lunu

dish 100." <o mins®, a mixturc of red onions and spices as
0> well as with hananas, jaggery & curries. It's a
>3 Cups of Long grain ricc (short grain or whilc ice)<li> | must have New Year celchrtions & a popular
<3 Cups of Coconut milk (thick}</li> breakfast dish 100."
dird 9> 1</@>>2Q> Cups of Water<li> * 3 Cups of Long gnin rice (short grain or
di> <@>3¢@>/<0>4</> Teaspoons of Salt <fli> white rice)
B> * 3 Cups of Coconut milk (thick)
</body> * 4 % Cups of Water
<html> * X Teaspoons of Sall

Sclect the comect ag or parameter from the following list for labels numbered @-@ in the HTML. source
code above and write them down againdt cach number.

__Lim: Joemer, b, br, em, img, justify, i, d, 3, sup, sub, p. tr, id, marquee, v, ull
1 - center,2 - img, 3 - Justify,4->i,5->b,6->ul,7 - sup, 8 > sub

& ---—meeee——1 mark each - €0.5 mark each>

[tags 1 to 6,1 markeach,
tag, 7 & 8,=> 0.5 mark each

=>1*6+ 0.5 *2,
= 07 marks]

(ii) (ii) Detcrmine whether the following staiements are TRUE or PALSE.

@ Number of pixels can be reduced by removing unnecessary sections in edge of images using
Crop/Trim iool in graphics software.

@ Size of video files can be reduced by making the frame size smaller and reducing the resolution
of image in a frame.

@ The size of andio files can be compressed by decreasing the sampling ralc.

Write down staicment labels (- @ and write whether the above statements are TRUE or FALSE.

1 - true/T
2 > true/T
3 > true/T
[1 marks * 3]
=03 marks)
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(source: World Development Indicators)
ﬁ)wnwmmfmmmmdumm |nd|ml0ﬁlﬂl|ltdi"mdm'cmi§im
between years 2014 and 1972 in Bangladesh.

| Difference = Valuc of year 2014 - Value of year 1972 |

=C4-B4
OR
=(C4-B4)
**Note: No partial marks
[correct answer awarded 02 Marks)

(ii) (-i)w&umufmmuumu-ﬁmindlunoalanmthcpcmmpimomr,r
emission from 1972 1o 2014 for Bangladesh.
|m|m=mmuywlm)noo|

=(C4 - B4)/B4*100
OR
=((C4 - B4)/B4)*100
OR
=D4/B4*100
OR
=(D4/84)*100
**Note: Exact answer required and No marks awarded for incorrect/incomplete excel
formula syntax
**Note: No partial marks
[02 Marks]

(iii) (iii) Assume that the two fornudae entered o cefls D4 and E4 arc copied o the cell range DS:EI0.
Write down respectively the two formutac displayed in cell D9 and E9 that are rlaled (o S Lanka.

=C9-B9 and =(C9-B9)/B9*100

OR

=C9-B9 and =D9/B9*100

OR

=(C9-B9) and =((C9-89)/B9)*100

OR

=(C9-B9) and =(D9/B9)*100 ****Note: if 4(ii) answer is
=(D4/B4)*100

respectively in D9 and E9 cells
**Note: No partial marks
[1.5 marks each for correct formula=>1.5 marks*2,

=3 markS]

I—
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(a) | g

110 111001 100 (35 3 &&= ot o0 A8)

oI (o3 mqwzd Ba )
(80168 BEQd vem cne 0.5,
Bwbd wew cneg (.5,
=cneg01]
2 98
8e80 10 24 ©50> 3532 cah ;A o opd 8 vxwd vode
Podh s\e Po \Acvta +h be (8068 BEnd uem e 0.5,
vopskiaiagd 8ub3 wewm g 0.5
=cnall)
(b) 752,
| 8
0111 0101 0010 >
s o |"0|0|m|0: (&Q’-" sew: ! B qu, :
(8068 8896 vewm e e 0.5,
8ads wewm cmeq 0.5
2 s =cag 0l

:
|
BESE 10 2060 060 1874 3 0, B8 o o0 2 3¢ 2689 :

|
|
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@Tr (v) qums ocud el an orel ocmul Soll eSO s sond mcfmd ol 008 W smmed
og % aguiDie o0u ven 8 eudl. sDegy amen S8l 4t got» arf 8 enbs

(barcode) emcigetil gyl smmdcgd, o080 giOslegy (xm) crell O Oul elinded gisst ¢ (08O

qrp0 oy ored. oDiks S o eSoband B¥re oo Sux) «BeslC Rt B0 e noy

Crefl. eulcp emecEd som Bom s wip cred

=e emdgdy 8@ gm. G0 we phan ecm 08 g Sl S cxibuin.

L R ot 2 R
T g - 40, o, 08 O 0800 eeea ( 3, 24 BDGEB)

808w - 46 el verw OAS(gbOmOnW) / BOEBHE, q85®
880,0/03znm® namne B30, Boc® ¢8200¢ ¢ 88H;0/00mm® 05w
B30
glome - o
[pove -cng 0.5,
B=:08a - o 01,
ypmo - cne 0.5
=cneg 02

Input - bar code, quantity (3, 2 acceptable)
Process - interpreting/converting/using bar code, calculate cost of items, calculate
total cost of all items
Output -bill | ?n'nh'm) e bill
[Input 0.5 marks,
Process 1 mark,
Output 0.5 marks
= 02 marks)

(v) ) cOsanes gund crebe enctd (ports) 8o cun @ - © edicoBsl itn ara.
. T T
@ ® © @ &

oy wemed gt G0 g0 emetdiect sioo Boo ok

(D) Q“Mﬂﬂwww*-ﬂn*-q‘(
o) *Mﬂmﬁqmm-‘um*“

o ug wb ¢t ; )

(a —>E

(b) —»D
[em B0 S%, BEnoxd oemn el => 172,

= cng 02)

[1 mark each for correct answer => 12

= 02 marks]
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2- ooseB/IAOGRBIT / g
3. eoseB/B0GRET / &
4- quoneB/O6RBF 4 pus .

cneg 0.5 *4,
= cng 2]
1-True/T /covrec}
2-True/T / covvec)
3-True/T [ covvect 9
4-False/F [ woorect yncovrect
[0.5° 4 Marks,
= 02 marks]

(vlll) (vﬂ)uéwidamw.ﬁmwm)wmwm(m,

T RTeE

@ ® ¢ o
oue ¢ulty o #8000 mud Crlidigetnl AR #8000 wela ppwmen: & @ 80 B sea )
ociic oiSed! & ultuim

o090 @b giking : [0ud $3s8 (cp) o8LCH. ¢ on (10800) 080CH. qdf (hand) S8OCE. AR
(brwsh) o028, slecyific fic: (clone stamp) @0UCO. &1éud ouD (magic wand)
o800® tew (mrve) o8Le®]

A - 98t 0¥ 080

B - creed 0908
C-0¢» e®e®

D - SeciBe 8 @200

[08 80,68 BEnod wem cme 0.5=>0.5%4,

.= g (2]
A - Magic Wand Tool
B - Lasso Tool i
C - Move Tool i S
: vt~ A8, D

D - Clone StampTool

[0.5 marks for each correct answer => 0.5%4, |

= 02 marks] |
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B - oPenyg® {05 Dagmro
C - g0
[(BE8r< ons oud oo AN O - CRE 01
BExqa 900 B0 »O crg 02
8o cneg - 02]
A - Application Software
B - Operating System Software
C - Hardware
[1 or2 correct=>1 mark,
ALE C shewld be All 3 correct => 2 marks,
= 02 marks|
8
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ek
end whihe
display cown
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P-10
[cmeal]
[01 mark]
Q-i
[cne05)
[0.5 mark]
R - count
|
[cm&o.Sl{
(ount clhiowld be cod Y,:;_Hj [0.5 mark] |
5 nelled |
P [8g cnra 0111
[02 marksl
]
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| = sBoan O5®
2 = podo mene
I D ®
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[eme 01x 4,
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1 - Computer Worm
2 - Spam
3 - Phishing
4 - Adware
(1 Marks * 4,
= 04 marks)
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¢ am®OSS aand 8 / 2»a»a (RSI)

¢ MmOC-edsn cvcEumas

[ene@1.5*2, ‘

=cag 03] I

Any Two of the following : t

® Muscular Skelton Syndrome/back pain o \eS VG*’»” /POO* Péio (’ Frozen |
|+ NeckPain _f""’““""
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 bos scssmassin:
'*  08m Do,
Month=> April,
Acc_No= 1005,
Units=>» 120
o)
wbn O@0,
Month Acc_No Units
April 1005 120

Or
Customer_Data (table)
A B CNavaz,
1005,
R
OR
Customer_Data
Name - A B C Navaz,
Acc_No - 1005,
Type > R
OR
Customer_Data

O@D u8pdmensi® g1¢ a0e cociBum gracsemd

Sed 50 ¢ cy@ mved

** gon 820® PmucaBs 88n0 9ided ms ;1880 e yons emed

2003 : 0D go¢ Bup® Wody neuxtd 880 grye

Customer_Data (table)-> (A B C Navaz, 1005, R)

Name

Acc_No

Type

A B C Navaz,

1005

R

lcng01* 2,
=cneg 02

if the entire table is drawn and relevant record is included the marks are awarded,

[01*2
= 02 Marks])
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